Algebra 1
Assignment

Divide.
1) N*+7n+1)+(n+6)

3) (b +11b+27) = (b+2)

5) (x> —7x—2)+(x—1)

7) (V2 -5v—-28)+(V—-9)

9) (9k* =7k +6) = (k—1)

11) (N*+n=-32)+=(n+7)

13) (n*+3n—-61)+(n—6)

15) (V2 —8v+15)+(v—4)

17) (x> = 2x —55) + (x — 8)

19) (V2 —4v —20)+ (V+3)

21) (n*-8n+15)=(n—1)

23) (N*+10n+11)+(n+9)

Name

ID: 1

Date Period

2) (M*—9m+23)+(m-2)

4) (6n*+37n—38) = (n+7)

6) (2r*+ 11r —66) + (r + 9)

8) (9m*+ 66m + 16) + (M +7)

10) (p*+12p+45) = (p+6)

12) (r*—10r +33)+(r—6)

14) (x> +4x—34) + (x+8)

16) (V2 +7v—13)+(Vv-2)

18) (r* =3r—28)+(r—7)

20) (X*+2x —76) + (X + 10)

22) (b*+11b+32) = (b +4)

24) (r*=5r—39) = (r+4)



Algebra 1
Assignment

Divide.
1) N*+7n+1)+(n+6)

n+1-

3) (b +11b+27) = (b+2)

b+9+

b+2
5) (x> —=7x—2)+(x—1)
8
X—1
7) (V2 -5v—-28)+(V—-9)

X—6-—

V+4+

v-9
9) (9k* =7k +6) = (k—1)

ok +2 +

k-1
11) (N*+n=-32)+=(n+7)
10

n—-o6-+

13) (n*+3n—-61)+(n—6)

n+9-—
n-=6

15) (V2 —8v+15)+(v—4)
1
v—4
17) (x> = 2x —55) + (x — 8)

V-4 -

X+6—
X—&

19) (V2 —4v —20)+ (V+3)
1
V+3

21) (N*=8n+15)=(n—-1)

vV—T7+

n-7+
n-1

23) (N*+10n+11)+ (n+9)

n+1+
n+9

Name

ID: 1

Date Period

2) (m*—9m+23) = (m—2)

m-—7+
m-—2

4) (6n* +37n—38)+(n+7)

6n—-5-—

n+7
6) (2r*+ 11r —66) + (r + 9)

2r—7-—

r+9
8) (9m*+ 66m + 16) + (M +7)

om+3 —
m+ 7

10) (p*+12p+45) = (p+6)

+6+
P p+6

12) (r*—10r +33)+(r—6)

r—4+
r-6

14) (x* +4x —34) = (x + 8)
2
X+ 8

X—4-—

16) (V2 +7v—13)+(Vv-2)

V+9+
v—-2

18) (r* =3r—28)+(r—7)

r+4

20) (X*+2x —76) + (X + 10)
4
X+ 10

22) (b*+11b+32) = (b +4)

X—8+

b+7+

b+4
24) (r*—5r-39) + (r +4)

3
r-9-




Algebra 1
Assignment

Divide.
1) (N*+9n+14)=(n+7)

3) (P*-9p+22)+(p-6)

5) (x*=2x—17) + (x+4)

7) (p*>—16p+55)+(p—10)

9) @*-a-2)+(a-4)

11) (n*+7n—=22) = (n-3)

13) (x> = 11x+22) =+ (x=7)

15) (N*+n—64)+(n+9)

17) (@’ +2a—16)+(a—2)

19) (@’ +5a—-39)+(a+9)

21) (x> = 15x+42) + (x - 5)

23) (X* + 12X+ 14) + (x +2)

ID: 2
Name

Date Period

2) (9n*+9n—23) = (n+2)

4) (K* +k—-89)+ (k+10)

6) (3k?+22k —52) + (k+9)

8) (n*+ 14n + 55) = (n + 8)

10) (k*+ 2k —32) + (k - 5)

12) (@*+ 12a+40) + (a+ 6)

14) (r* + 14r + 43) = (r + 10)

16) (x> =3x+5) = (x+1)

18) (a’+2a—40) = (a+ 8)

20) (3m? +2m—21) = (m—2)

22) (% + 14n +47) + (n + 5)

24) (M? +5m +4) = (m + 4)



Algebra 1
Assignment

Divide.
1) (N*+9n+14)=(n+7)

n+2

3) (PP-9p+22)+(p-6)

p—-3+

p-6
5) (x*=2x—17) + (x+4)

X—6+
X+4

7) (p*>—16p+55)+(p—10)

—6—
P p—10

9) @*-a-2)+(@a-4)
10
a—4

11) (n*+7n—-22) = (n-3)

a+3+

n+ 10+

n-3
13) (x> = 11x+22) =+ (x=7)
X—4— 0
X—7
15) (N> +n—64) = (n+9)
n—-8+ s
n+9

17) (@’ +2a—16)+(a—2)

a+4-
a—2
19) (@’ +5a—-39)+(a+9)
3
a—4-
a+9
21) (x> = 15x+42) + (x - 5)
8
Xx—10-
X—35

23) (X* + 12X+ 14) + (x +2)

X+ 10—
X+2

Name

ID: 2

Date Period

2) (9n*+9n—23) = (n+2)

on -9 -

n+2
4) (K* +k—-89)+ (k+10)
1
+
k+10

6) (3k?+22k —52) + (k+9)

k-9

3k—-5-

kK+9
8) (n*+ 14n + 55) = (n + 8)

n+6+
n+3§

10) (k*+ 2k —32) + (k - 5)

k+7+
k-5

12) (@*+ 12a+40) + (a+ 6)

a+6+
a+6

14) (r* + 14r + 43) = (r + 10)

r+4+
r+10

16) (x> =3x+5) = (x+1)

X—4+
X+ 1

18) (a’+2a—40) = (a+ 8)

a—6+
a+8

20) (3m? +2m—21) = (m—2)

3m+ 8 —
m-2

22) (% + 14n +47) + (n + 5)

n+9+
n+35

24) (M*+5m +4) = (M + 4)

m+1



Algebra 1
Assignment

Divide.
1) (x*=3x—-4)+(x-5)

3) (7x*+53x+19) + (x+7)

5) (7m*+51m + 52) = (M + 6)

7) (xX*—4x—27)+(x—8)

9) (x* = 17x + 74) = (x - 8)

11) (x* = 11x+17) = (x=9)

13) (M? +6m+5) = (m+1)

15) (x* + 10X +20) + (X + 2)

17) (N*=7n+2)+(n—-4)

19) (7x* = 11x—23) = (x—3)

21) (X*+ 9% + 14) = (X + 5)

23) (V2 + 6V +2)+ (V+3)

ID: 3
Name

Date Period

2) (x*—17x+81) = (x—28)

4) 3n*=19n+16) = (n—5)

6) (p*+2p-2)=(p-1)

8) (9x*—91x+82)+ (x—9)

10) (x> = x—10) = (X +2)

12) (x> —4x—-4) = (x-2)

14) (Mm*+3m—-21)+(m—-4)

16) (r* +8r+17)+(r+2)

18) (6m?+ 19m — 12) = (M + 4)

20) (4x* +3x—17) + (x+2)

22) (8m? —32m - 35) + (m - 5)

24) (5m? —32m - 16) = (m —7)



Algebra 1
Assignment

Divide.
1) (x*=3x—-4)+(x-5)

X+2+
X—=95

3) (7x*+53x+19)+ (x+7)

TX+4 -
X+7

5) (7m*+51m + 52) = (M + 6)

m+9 —
m+6

7) (xX*—4x—27)+(x—8)

X+4+
X—28

9) (x* = 17x + 74) = (x - 8)

X—9+
X—8

11) (x* = 11x+17) = (x=9)
1
X—9
13) (M?+6m+5) = (m+1)

X—2—

m+35

15) (x* + 10X +20) + (X + 2)

X+ 8+
X+2

17) (N*=7n+2)+(n—-4)
10
n-4
19) (7x* = 11x—23) = (x—3)

n-3-

TX+ 10 +
X—3

21) (X*+ 9% + 14) = (X + 5)

X+4 -
X+5

23) (V2 + 6V +2)+ (V+3)

V+3-—

Name

ID: 3

Date Period

2) (x*—17x+81) = (x—28)

X—9+
X—8

4) 3n*=19n+16) = (n—5)

3n—-4 -
n->5

6) (p*+2p-2)=(p-1)

p+3+

8) (9x*—91x+82)+ (x—9)

9x — 10 — 8
X—9
10) (x> = x—10) = (X +2)
4
X—3-
X+2
12) (x> —4x—-4) = (x-2)
8
X—2—
X—2

14) (Mm*+3m—-21)+(m—-4)

m+7+
m-4

16) (r* +8r+17)+(r+2)

r+6+
r+2

18) (6m?+ 19m — 12) + (M + 4)

6m-—5+
m+4

20) (4x*+3x—17) = (x+2)

4x -5 -

X+2
22) (8m*—32m—35)+(m-5)

&M+ 8 +
m->5

24) (5m? —32m - 16) = (m —7)

Sm+3+
m-—7



Algebra 1
Assignment

Divide.
1) (m*-2m—20) + (m —6)

3) (X = 10x+15) + (x—9)

5) (X*+ 14x+51) + (X +9)

7) (p*+4p—-15=+(p-1)

9) (@*+a-26)+(a+6)

11) (8a*+87a+67) +(a+ 10)

13) (n*+2n-283)+(n+ 10)

15) (M + 11m+27) + (m + 3)

17) 2%°+ 11X+ 7) + (X + 5)

19) (N*=5n-14)+=(n-7)

21) (n*+2n—-18) +(n+6)

23) (p*+8p+18)+(p+6)

ID: 4
Name

Date Period

2) (p*-3p—-48)+(p-9)

4) (FP+17r+77) = (r+8)

6) (k*—6k—21)+ (k+3)

8) (v’ —v—14)+ (v-3)

10) (9%* + 28x — 40) = (X + 4)

12) (n*-8n—10)+(n-9)

14) (n*+12n+21) +(n +2)

16) (N>-3n-2)+(n—1)

18) (N*+6n+4)+(n+5)

20) (N*+9n+3)+(n+1)

22) (7m* +44m +39) + (M + 5)

24) (r* +3r—34)+(r->5)



Algebra 1
Assignment

Divide.
1) (m*-2m—20) + (m —6)

3) (X = 10x+15) + (x-9)

X—1+
X—9

5) (x> + 14X+ 51) + (X +9)

X+5+
X+9

7) (p*+4p-15+(p-1)
10
p-1

9) @*+a-26)+(a+6)

p+5-—

a—5+
a+o6

11) (8a*+87a+67) +(a+ 10)

ga+7-—
a+10

13) (n*+2n-283)+(n+ 10)
3
n+10

15) (M + 11m+27) + (m + 3)

m+ 8 +
m+3

17) 2%°+ 11X+ 7) + (X + 5)

2Xx+ 1+
X+5

19) (N*=5n-14)+=(n-7)

n+2

21) (n*+2n—-18) +(n+6)

n—-4+

23) (p*+8p+18)+(p+6)

+2+
P p+6

Name

ID: 4

Date Period

2) (p*-3p—-48)+(p-9)

p+6+

4) (FP+17r+77)+(r+8)

r+9+
r+38

6) (k*—6k—21)+(k+3)

k—9+

k+3
8) (vi-v—14)+(v-3)

V42—
v-3

10) (9%* + 28x — 40) = (X + 4)

OX — 8 —

X+ 4
12) (n*-8n—-10)+(n-9)

n+1-
n-9

14) (n*+12n+21) +(n +2)

n+ 10+
n+2

16) (N>-3n-2)+(n—1)

4
n-2-——
n-1

18) (N*+6n+4)+(n+5)

20) (N*+9n+3)+(n+1)

n+8—

22) (7m* +44m +39) + (M + 5)

m+9 —
m+35

24) (r*+3r-34)+(r->5)

r+8+
r-5



Algebra 1
Assignment

Divide.
1) (10n*+67n +35) = (N + 6)

3) (k% + 14k +38) = (k + 4)

5) (m?*—m—11)+(m-3)

7) (N*+10n+11)+(n+3)

9) (X*+7x—4)+ (x+78)

11) (@’ -5a+7) = (a-23)

13) (@’ -5a+5)+(a—-2)

15) (V2 + 17v +70) =+ (V + 8)

17) (m? +4m—52) = (M +9)

19) (p°+p+2)=(p-1)

21) (10x* + 87X + 64) + (x + 8)

23) (5x* =36x+11) =+ (x=7)

ID: 5
Name

Date Period

2) (2m?+22m + 65) = (M + 6)

4) (k* =2k —64) + (k+7)

6) (p>+ 15p+49)+(p+5)

8) (n*+6n—-23)+(n-23)

10) (m?* - 10m +28) + (m — 5)

12) (x*—3x—-38) = (x—8)

14) (2n*-8n—-63) + (n - 8)

16) (M?+7m+21) = (m+4)

18) (N*+9n+11) = (n+2)

20) (6v* — 63V +27) + (v — 10)

22) (7n* +22n—6) = (n + 3)

24) (p*-11p+6)+(p-10)



Algebra 1
Assignment

Divide.
1) (10n*+67n +35) = (N + 6)

10n+7 -

n+6
3) (k% + 14k +38) = (k + 4)

k+ 10—

k+4
5) (m*—m—11)+(m-3)

m+2—
m-3

7) (N*+10n+11)+(n+3)
10

9) (X*+7x—4)+ (x+78)

X—1+

11) (@’ -5a+7)+(a-23)

a—2+
a—-3

13) (@’ -5a+5)+(a—-2)
1
a-2

a—-3-

15) (V2 + 17v +70) =+ (V + 8)

2
V+9 -
V+38
17) (m? +4m—52) = (M +9)
7
m-5-—
m+9
19) (p’+p+2)+(p-1)
p+2+

21) (10x* + 87X + 64) + (x + 8)

10X+ 7+
X+ 8

23) (5x* =36x+11) =+ (x=7)

S5x—1+
X—=17

Name

ID: 5

Date Period

2) (2m?+22m + 65) = (M + 6)

2m+ 10 +
m+6

4) (K* -2k — 64) =+ (k+7)
1
Ck+7
6) (p>+ 15p+49)+(p+5)

k-9

+ 10—
P p+5

8) (n*+6n—-23)+(n-23)

n+9+
n-3

10) (m?* - 10m +28) + (m — 5)

m-5+
m->5

12) (x*—3x—-38) = (x—8)

X+5+
X—8

14) (2n*-8n—-63) + (n - 8)

2n+ & +
n-=8

16) (M?+7m+21) = (m+4)

m+3+
m+4

18) (N*+9n+11) = (n+2)

n+7-
n+?2

20) (6v* — 63V +27) + (v — 10)

6v—3—
v—10

22) (7n* +22n—6) = (n + 3)

n+1-
n+3
24) (p*-11p+6)+(p-10)
p—1-

p—10



Algebra 1
Assignment

Divide.
1) (b*—10b+18) = (b—15)

3) (9k* — 69k +41) = (k- 7)

5) (r*+6r—10)+(r—1)

7) (pP—4p-14)+(p+2)

9) N*+n-73)+(n+9)

11) (x* —4x—43) = (X +5)

13) (N*=7n—-26) = (n + 3)

15) (r*+ 18r +78) + (r + 8)

17) (In*+5In+10) = (n+7)

19) (m?*—6m+9) + (m—4)

21) (N*+11n+24)+ (n+4)

23) (2x* = 10x+17) + (x = 2)

ID: 6
Name

Date Period

2) (X*—9x+16) = (x—3)

4) (p*-5p+2)+(p-6)

6) (X —5x—12)=(x—=7)

8) (6X* — 34X +46) + (x — 4)

10) (X* +8x + 12) + (x +3)

12) N*=7n—-4)+=(n-1)

14) (x* = 2x —52) = (X + 6)

16) (@*-8a+4)+(a—2)

18) (k*—8k—18)+ (k—9)

20) (x> +4x-2)+(x-2)

22) (X*+3%X+3)+ (x+4)

24) (x> = 13x+45) + (x - 9)



Algebra 1
Assignment

Divide.

1) (b>—10b + 18) + (b - 5)
7

b-5

3) (9K*— 69k +41) + (k—7)

b-5

9k — 6 —

k-7
5) (r* +6r—10)=+(r—1)

r+7-
r—1

7) (p°—4p—14)=(p+2)

p—6-

p+2
9) (N+n-73)+(n+9)

11) (X2—4X—43) +(X+5)

X—9+

13) (n*=7n-26) + (n+3)

n-—10+
n+3

15) (r*+ 18r +78) + (r + 8)

2
r+10 - ——
r+8

17) (70> +51n+10) + (N +7)

n+2—

n+7
19) (m*—6m+9) + (m—4)

m-2+

m-4
21) (n*+11n+24) + (n +4)

n+7-
23) (2x* = 10x+17) + (x - 2)

2X—6+

X—2

Name

ID: 6

Date Period

2) (x> = 9x +16) = (x - 3)
2
X3
4) (p*=5p+2)=(p-6)

p+1+

X—6—

6) (X*—5x—12)+(x—7)

X+2+
X—="17

8) (6x* — 34X +46) + (x — 4)

6x—10 +

X—4
10) (X% + 8x + 12) = (x + 3)

X+5—

12) (> =7n-4)+(n-1)
10
n-1
14) (X* =2x—52) + (X +6)
4
X+ 6
16) (@°-8a+4)+(a-2)
8
a-2
18) (k> — 8k —18) + (k—9)
9
k-9
20) (X*+4x—-2) = (x—-2)
10
X—=2
22) (X*+3x+3)+(x+4)

n—-6-

X—8—

a—6-—

K+1-

X+6+

X—1+

24) (x> = 13x+45) + (x - 9)

X—4+

X—=9



Algebra 1
Assignment

Divide.
1) (xX*+15x+61) + (x+9)

3) (FP+17r+81)=(r+9)

5) (r*+ 13r +40) = (r + 8)

7) 8n*+12n+11)+(n+1)

9) (r*+3r—28)+(r+7)

11) (k*+3k-62) = (k-7)

13) (r*=3r-5)+(r+2)

15) (V2 + 17v+72) + (V+9)

17) (x* - 4x — 60) + (x — 10)

19) (n?-15n+58) + (n - 5)

21) (x> + 5% —59) = (x + 10)

23) (@*+6a—22)+(a—2)

Name

Date

Period

2) (9n% —46n —49) + (n - 6)

4) (4x* = 6x—32) = (x—4)

6) (N> —4n+4)+(n->5)

8) (X*+ 15X +46) + (X +9)

10) (p*+3p-17)+(p+6)

12) (8v*—18v+ 1)+ (v —2)

14) (p*+3p-73)+(p-17)

16) (9n*+ 15n—4)+(n+2)

18) (x> =3Xx+3) = (x—-2)

20) (X*+7x—-21)+(x—-2)

22) (k* — 10k +28) + (k — 4)

24) (6x* + 36X —52) + (x+7)



Algebra 1
Assignment

Divide.
1) (xX*+15x+61) + (x+9)

X+6+
X+9

3) (FP+17r+81)=(r+9)

r+8+
r+9

5) (r*+ 13r +40) = (r + 8)

r+5

7) 8n*+12n+11)+(n+1)

&n+4 +
n+1

9) (r*+3r—28)+(r+7)
r-4

11) (k*+3k-62) = (k-7)

k+ 10+
k-7

13) (r’=3r-5)=(r+2)

r-5+

15) (V2 + 17v+72) + (V+9)

V+8

17) (x* - 4x — 60) + (x — 10)

X+ 6

19) (n?-15n+58) + (n - 5)

n-—10+
n->5

21) (x> + 5% —59) = (x + 10)
9
- _x+10
23) (@*+6a—22)+(a—2)

6
a+8———
a—2

Name

ID: 7

Date Period

2) (9n% —46n —49) + (n - 6)

on + 8 —

n-o6
4) (4x* = 6x—32) = (x—4)

4x+ 10 +
X—4

6) (N> —4n+4)+(n->5)

n+1+
n->5

8) (X*+ 15X +46) + (X +9)

X+6—

10) (p*+3p—17)+(p+6)
1
p+6
12) (8v*—18v+ 1)+ (v —2)

p-3+

8v -2 —
v—-2
14) (p*+3p-73)=(p-7)
p+10——é—
p—-7

16) (9n*+ 15n—4)+(n+2)

on -3 +
n+?2

18) (x*=3x+3)+(x—2)

X—1+
X—2

20) (X +7x—=21)+ (x-2)

X+9—
X—2

22) (k* — 10k +28) + (k — 4)

k—6+

k—4
24) (6X*+36X—52) + (X +7)
10
X+7

6X—6—




Algebra 1
Assignment

Divide.
1) (@*+12a+28)+(a+4)

3) (P +8r+21)+(r+2)

5) (m?—16m+71)+(m—-9)

7) (X* = 14x+42) + (x—9)

9) (8r*+55r—17)+(r+7)

11) (n*+ 16N+ 69) + (n + 6)

13) (6x* = 11X —6) =+ (X —2)

15) (p*-12p +40) = (p-5)

17) (X* +13x+47) = (x+7)

19) (@’ -6a—16)+(a—"7)

21) (V2 - 14v +56) + (V- 8)

23) (8x* - 13x—4)+ (x-2)

ID: 8
Name

Date Period

2) (N*=7n+19)=(n—4)

4) (n*-4n-35)+(n-9)

6) (6b*+4b—11)+ (b +2)

8) (n*+ 14n+50) = (n+7)

10) (n*-9n+2)+(n-1)

12) (8n*-38n—-2)+(n-15)

14) (4n* +30n+19) = (n+7)

16) (2x* = 17x—23) = (x — 10)

18) (10b*—15b—7) = (b -2)

20) (k*+4k—7)+ (k-2)

22) (r*—=3r—46)+(r-9)

24) (X* + 13X + 46) + (X + 5)



Algebra 1
Assignment

Divide.
1) (@*+12a+28)+(a+4)

a+8—
a+4

3) (P +8r+21)+(r+2)

9
r+6+——
r+2

5) (m?—16m+71)+(m—-9)

m-7+
m-9

7) (X*—14x+42) + (x-9)
3
X—9
9) (8r*+55r—17)+(r+7)
10

X—5-

&r—1-—

11) (n*+ 16N+ 69) + (n + 6)

n+ 10+
n+6

13) (6x* = 11X —6) =+ (X —2)

6X+1-—
X—=2

15) (p*-12p +40) = (p-5)

-7+
P 0_5

17) (X* +13x+47) = (x+7)

X+6+
X+ 7

19) (@’ -6a—16)+(a—"7)

a+1-
a—7

21) (V2 - 14v + 56) + (V- 8)

V—06+
V—28

23) (8x* - 13x—4)+ (x-2)

X+ 3+
X—2

Name

ID: 8

Date Period

2) (N*=7n+19)=(n—4)

n—3+
n-4

4) (n*-4n-35)+(n-9)
10
n-9

6) (6b*+4b—11)+ (b +2)

n+5+

6b -8+

b+2
8) (n*+ 14n+50) = (n+7)

n+7+
n+7

10) (n*-9n+2)+(n-1)

n-8-—
n-1

12) (8n*-38n—-2)+(n-15)

N +2 +
n->5

14) (4n* +30n+19) = (n+7)

4n+2 +
n+7

16) (2x* = 17x—23) = (x — 10)

2X+3 +
X—10

18) (10b*—15b—7) = (b -2)

3
10b+ 5+
b

20) (k*+4k—7)+ (k-2)
5
k-2
22) (r*—=3r—46)+(r-9)

k+6+

r+6+
r-9

24) (X* + 13X + 46) + (X + 5)

X+ 8+
X+5



Algebra 1
Assignment

Divide.
1) (3v?—18v—153)=+(v—298)

3) (N—4n—-4)+(n-1)

5) (n*+7n+4)+(n+6)

7) (N*+14n+43) = (n+4)

9) (8m? —88m + 89) =+ (m — 10)

11) (3n*=33n+72) = (n—8)

13) (p*+3p-30)+(p—4)

15) (k* + 16k + 58) + (k + 8)

17) (n*+2n=27)+(n+7)

19) (7n* +5In+24) = (n+7)

21) (x> +2x—78) + (x + 10)

23) (x* = 6Xx —38) = (X +4)

ID: 9
Name

Date Period

2) (10b*-58b—11)+ (b—6)

4) (k* =7k —3) = (k—8)

6) (a’+a—-89)+(@-"9)

8) (X*+6x—4)+(x—1)

10) (10x* + 63X —39) = (x + 7)

12) (b*+10b+24) + (b +8)

14) (x* - 12X+ 36) = (x — 4)

16) (p*-2p—40)+(p+6)

18) (3n*—22n—-8)+(n—28)

20) (6x* - 67x+73) + (x —10)

22) (10p* +30p +24) =+ (p+2)

24) (X* = 6X+3) +(x-3)



Algebra 1
Assignment

Divide.
1) (3v?—18v—153)=+(v—298)

3V+6—
V-—28

3) (N—4n—-4)+(n-1)
7
n-1

n-3-

5) (n*+7n+4)+(n+6)

n+1-

7) (N*+14n+43) = (n+4)

n+ 10+
n+4

9) (8m? —88m + 89) =+ (m — 10)

&M —8 +
m-10

11) (3n*-33n+72)+(n-28)
3n-9

13) (p*+3p-30)+(p—4)

7 —
P+7-2

15) (k* + 16k + 58) + (k + 8)
6
k+8

17) (n*+2n=27)+(n+7)

k+8—

n->5+

19) (7n* +5In+24) = (n+7)

n+2+
n+7

21) (x> +2x—78) + (x + 10)
2
X+ 10

23) (x* = 6Xx —38) = (X +4)

X—8+

X—10+
X+ 4

Name

ID: 9

Date Period

2) (10b*-58b—11)+ (b—6)

1
10b+2 +
b

4) (K* -7k -3)+(k—28)
5
k-8
6) (a’+a—-89)+(@-"9)

k+1+

a+ 10+
a-9

8) (X*+6x—4)+(x—1)

X+ 7+
X—1

10) (10x* + 63X —39) = (x + 7)
10
X+7

12) (b*+10b+24) + (b +8)

10x =7+

b+2+

b+8
14) (x* - 12X+ 36) = (x — 4)

X—8+
X—4

16) (p*-2p—40)+(p+6)

-8+
b p+6

18) (3n*—22n—-8)+(n—28)

3n+2+
n-=g

20) (6x* - 67x+73) + (x —10)

6X—17+

X—10
22) (10p* +30p +24) =+ (p+2)

10p+ 10 +
p+2

24) (X* = 6X+3) +(x-3)
6
Xx-3

X—3-—



Algebra 1
Assignment

Divide.
1) (8n*+53n-15)+(n+7)

3) (n*—n—-6)+(n-23)

5) (x*+ 13X +40) = (X + 4)

7) (5n*+52n+19) + (n + 10)

9) (x* —9x+26) = (x—5)

11) (b*+7b—14)=(b—1)

13) (x*—2x —88) + (X + 8)

15) (xX* = 8x+7) = (x—4)

17) (n*=19n+81)+ (n-9)

19) (X* + 16X+ 67) = (X + 7)

21) (x> = 13+ 50) + (x - 6)

23) (x> —5x—41)+ (X +5)

Name

ID: 10

Date

2) (8n%+88n+ 78) = (n + 10)

4) (m*=5m—19)+ (m+3)

6) (r*+4r—39)=(r-5)

8) (p*-2p-31)+(p-7)

10) (2x* - 8x —27) + (X — 6)

12) "*+n=7)+=(n-1)

14) (@*-1la+16)+(a—2)

16) (x* - 3x—63) = (x - 10)

18) (n? +16n + 55) + (n + 6)

20) (b*+ 14b +39) = (b + 5)

22) (7X*+17x+11)+ (x+ 1)

24) (x* — 6x—20) + (x—9)

Period



Algebra 1
Assignment

Divide.
1) (8n*+53n-15)+(n+7)

&N -3 +

n+7
3) (n—n—-6)=+(n-23)

n+2

5) (X*+ 13X +40) = (X + 4)

X+9+
X+4

7) (5n*+52n+19) + (n + 10)

5n+2—

n+10
9) (x*—9x+26) + (x—5)

X—4+
X—=35

11) (b*+7b—14)=(b—1)

b+8-

b—1
13) (x* —2x —88) + (x + 8)
Xx—10 - 8
X+38
15) (x> = 8x+7) = (x—4)
9
X—4—
X—4
17) (N> =19n+81)+ (n-9)
9
n-10 -
n-9

19) (X* + 16X+ 67) = (X +7)

X+9+
X+ 7

21) (x> = 13+ 50) + (x - 6)

X—=7+
X—06

23) (x> —5x—41)+ (X +5)

X—10+
X+5

Name

1D: 10

Date Period

2) (8n%+88n+ 78) = (n + 10)

8N+ 8 —

n+10
4) (m*=5m—19)+ (m+3)

m-8 +

m+3
6) (r*+4r—39)=(r-5)

r+9+
r-5
8) (p*-2p-31)+(p-7)
p+5+

10) (2x* - 8x —27) = (X — 6)

2X+4 -

X—6
12) "*+n=7)+=(n-1)

n+2-—

n-1
14) (@’ -1la+16)+(a-2)
2
a-2
16) (x* - 3x—63) = (x - 10)

a—9-—

X+ 7+
X—10

18) (n? +16n + 55) + (n + 6)

n+10 -
n+6

20) (b*+ 14b +39) = (b + 5)
6
b+5
22) (7X*+17x+11)+ (x+ 1)

b+9-

TX+ 10 +
X+ 1

24) (x* — 6x—20) + (x—9)

X+3+
X-9



